88 1% D
%Y -SUS£%XY -SUSEY RV Ty b ;*i"‘“ P %
% 2007.7 [#r5Effi 200747 H ~] ” BRA Ty IHRN S
i H &x%xY Fib SUS &+ VAL b SUSEF b
L~} (mm) 1000 1500 2000 3000 1000 2000 —
3/8 220 720 430 2,100 1,240 2,500 1,010
1/2 530 1,100 3,780 2,470 5,340 1,500
5/8 2,160 4,740 —
(HA7 - F /1)
880 D
x HIZRIL N F v b sem 2007578~ ;* s P I %
%7 2007.7 ” BRAVTyoH%A 4t
ok M12 M16 M20
70 3,350
80 4,220
85 4,220
90 4,390
100 4,700
Wiz Y v — 185 193 241
g2y —7 356 537 722
CHEfi7 © P11 /1)

BoEm Y A 2
Sk 15A 20A 25A 32A 40A 50A
5K BEC& - - - M12X70 M12X70 M12X70
10K o M12X70 M12X70 M16X80 M16X85 M16X85 M16X85

RS 65A 80A 100A 125A 150A 200A
5K ECE M12X70 M16X80 M16X85 M16X85 M16X90 M16X100
10K EC& M16X90 M16X90 M16X90 M20X100 M20X100 M20X100

227



